
bio-tank lock Buckle Assy 2

Nippon Sensuiki Co., Ltd.

No. Code Description Note

2381300001 BIO TANK LOCK BUCKLE ASSY 2

1 2382200000 KNOB ASSY FOR TANK LOCK

1-1 3380504000 LEVER AXIS C3604B

1-2 3380904000 PLUNGER SHAFT C3604B

1-3 3381200005 PLUNGER SPRING C3604B

1-4 3382000009 LEVER KNOB PON GF25

1-5 3382000010 KNOB BODY PON GF25

2 3990100114 SCREW M5X8 SUS304

3 3382000005 SPRING GUIDE POM BK

4 3381200006 SPRING FOR TANK LOCK

5 3381300001 BUCKLE B FOR TANK LOCK

6 3990100055 SCREW (SUS  M4x4)

7 3380100009 LEVER SHAFT

8 3331300010 LOCKING LEVER

9 3990100752 HEXAGON CAP NUT M6 SUS304

10 3990500004 WASHER M6  SUS304

11 3381300010 BUCKLE A WITH HOLE

12 3380500000 SPINDLE SHAFT SUS304

2021/3/4


